
 / MP THRU
0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2

 / MP THRU
0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2

O
cc

up
an

cy

-610

-510

-410

-310

-210

-110

1

  [mV]THRU
0 1 2 3 4 5 6 7 8

RUN=6, CH=2, No BWLRUN=6, CH=2, No BWL

 / MP THRU
0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2

 / MP THRU
0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2

O
cc

up
an

cy

-610

-510

-410

-310

-210

-110

1

  [mV]THRU
0 1 2 3 4 5

RUN=6, CH=2, 200MHz BWLRUN=6, CH=2, 200MHz BWL

/MPTHRU
0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2

/MPTHRU
0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2

ef
fi

ci
en

cy

0
0.1
0.2
0.3
0.4
0.5
0.6
0.7
0.8
0.9

1

  [mV]THRU
0 1 2 3 4 5 6 7 8

RUN=6, CH=2, No BWLRUN=6, CH=2, No BWL

/MPTHRU
0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2

/MPTHRU
0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2

ef
fi

ci
en

cy

0
0.1
0.2
0.3
0.4
0.5
0.6
0.7
0.8
0.9

1

  [mV]THRU
0 1 2 3 4 5

RUN=6, CH=2, 200MHz BWLRUN=6, CH=2, 200MHz BWL


